

8 P60

$$x^3 + (a-1)x^2 + (1-a)x + b = 0 \quad \text{の}$$

解  $x=1$  あり。 因数  $x-1$  を除く

$$\begin{array}{r} x^2 + ax + 1 \\ x-1 \overline{) x^3 + (a-1)x^2 + (1-a)x + b} \\ \underline{x^3 - x^2} \phantom{+ (1-a)x + b} \\ ax^2 + (1-a)x \phantom{+ b} \\ \underline{ax^2 - ax} \phantom{+ b} \\ x + b \\ \underline{x-1} \\ b+1 \end{array}$$

剰りは  $0$  になる必要がある

$$b+1=0$$

$$b=-1$$

よ、

$$x^3 + (a-1)x^2 + (1-a)x + b = 0$$

$$x^3 + (a-1)x^2 + (1-a)x - 1 = 0$$

$$(x-1)(x^2 + ax + 1) = 0$$

(i)  $x^2 + ax + 1 = 0$  は 実数解をもたない

判別式  $D$  は  $D < 0$

$$D = a^2 - 4 < 0$$

$$(a+2)(a-2) < 0$$

$$-2 < a < 2$$

(ii)  $x^2 + ax + 1 = 0$  の解が  $x=1$  の重解

となることはない

$$x=1 \text{ を代入}$$

$$1 + a + 1 = 0$$

$$a = -2$$

$$a = -2 \text{ とき}$$

$$x^2 - 2x + 1 = 0$$

$$x^2 - 2x + 1 = 0$$

$$(x-1)^2 = 0$$

$$x=1 \text{ (重解)}$$

(i)(ii) より

$$\therefore -2 \leq a < 2, \quad b = -1$$